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T01-FM109 TIME EVOLUTION [Reference=CERNO060726] statistics for Pedestal Position [Gain index 5]
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[TO1-FM109 Test 0]

[GSI061117] 061117090044 FM109_calu_pedestals_ci.csv [ 24.1C]
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[TO1-FM109 Test 1]

[CERN060726] 060727073044 _FM109_calf mu_trend.csv [ 24.7C]

[CERN060905] 060905205100_FM109_calf_mu_trend.csv [ 24.6C]

[GSI061117] 061117091817 _FM109_calf mu_trend.csv [ 24.4C]




“Row 1
—Row2 T01-FM109 TIME EVOLUTION [Reference=CERN060726] for LE+/LE- [Gain index 5]
\°f§ El_x coL 0 * ?g ycoLo

0F 10

U.ZU.2-0U.20.40.0U.0 TT.2T.41.01.02 2.22.4

0 ime phase
: Y COL 3

oo %—‘
UAFU.Z-U0U.ZU 0000 T 1.41.4;I|_.D'I.§‘ <.22.84

0 ime phase
Y COL 4

U.40.2-00.20.40.60.8 1 1.&1.4;Ir.p'l.84 2.22.3

0 ime phase
Y COL
H COL5

H

. oo,
U.40.2-00.20.20.60.8 TT1.2T1.41.b1.82 2.22.4
0 0 Time phase
1 15FY COL 6
10 10F
5F 5F
_g = oo &%‘ _l% - oo T ———
10E -10E
-15 -15F
20 a0 220.40.60- 2T 4161, 2. 205 4072-00-20:20:608 T 2T AT 61822223
20 Time phase 20 Time phase
R15EXCOL7 R 15[y COL7
10F 10F
5F 5F
QE o= @4 QF o= oﬁf%’
-10E -10E
-15 -15F
-20- AUZ-U0. 04008 TT.2.41.61.8 2 2.2Z2.4 -20-...4'U.£-UU.£U.‘U.bU.H TT.21.41.061.82 2.22.4
2 Time phase ,, Time phase
B 18 Y COL 8
sE *
-10E
-15F
-20

=U.4U.2-0U0.20.40.00.8 T1.21T.41.6 1.82 2.22.4
Time phase

20
R 13 Y COL 9
| e )
5E
-10E
-15F
-20

=U0.4U.2-0U.20.4U0.60.8 T1.2T.41.61.82 2.22.4
2 Time phase

Z Y COL 10

“Time phase e  Yime phase



TO1-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/LE- [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] for LE+/HE+ [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/HE+ [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for LE-/HE- [Gain index 5]
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[TO1-FM109 Test 1]

[CERN060726] 060727073044 FM109_calf _mu_trend.csv [ 24.7C]
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[TO1-FM109 Test 1]

[CERN060905] 060905205100_FM109_calf_mu_trend.csv [ 24.6C]
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[TO1-FM109 Test 1]

[GSI061117] 061117091817_FM109_calf_mu_trend.csv [ 24.4C]
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[TO1-FM109 Test 2]

[CERN060726] 060727073108_FM109_calf shp_p01.csv [ 24.7C]

[CERN060905] 060905205124_FM109_calf_shp_p01.csv [ 24.6C]

[GSI061117] 061117091834_FM109_calf_shp_p01.csv [ 24.4C]
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T01-FM109 TIME EVOLUTION [Reference=CERNO060726] statistics for TACK Delay [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=CERN060726] statistics for LOWEST Relative Gain [Gain index 5]
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T01-FM109 TIME EVOLUTION [Reference=CERNO060726] statistics for HIGHEST Relative Gain [Gain index 5]
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[TO1-FM109 Test 3]

[CERN060905] 060905203731_FM109_calf _gain_p01.csv [ 24.4C]
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[TO1-FM109 Test 3]

[GSI061117] 061117090548 FM109_calf gain_pO01.csv [ 24.3C]




T01-FM109 GSI061117 LOWEST Relative Gain [Gain index 5]

rel. gain

rel. gain

0.84

0.76

0.84

0.82

0.78

0.76

0.8

0.78

0.76

0.78

0.76

0 5 10 15 20 25 30 35 40 45 0.76 0.78 0.8

24

: : : : : : : o LEX8
X+ : : : : : : : o LEX1| 29

"""""""""""""""""""""""""""""""""""""""" HEX8
e HEX1| 20

S TR S O L N S
; ; : : : 16
14
12

§ 6
N 4
T R A Tttt [ A R HER R é"" 2
SUTUE TN DUU FUUNE DU FUNTE SUUUE FUUTE PO T Y - T T A1 P

=LEX8
- LEX1

HEXS
= HEX1

0 5 10 15 20 25 30 35 40 45 0.76 0.78 0.8

Channel

0.84

rel. gain

25
: : : : : : : LEX8
' -+ : : : : : : : : LEX1

""""""""""""""""""""""""""""""""""""""" HEX8
o HEX1

20

15

10

FEETENIS ANETERINE NEFEETE AVINEPAE AVETTAT ATETETE AVEFETATE ANEPATII AATAAT A 0 —

- LEX8
- LEX1

HEXS
- HEX1

—

Channel

ol
0.84

rel. gain

: : : : : : : o EX8
X' : : : : : : : o LEX1

T e e o

EX LS T P N T S AL LX IR PO P LA L PR LIT AL LA 20

c.o.qo...q.o...o.coqoo..qc.oo.ooccqooo.qccooqoo

aeRLLLEE SEPRIIEE CRRRRLED G P Feeeeeees RRRRRED S e s 15

;....-’....:’....-’....-.....:’....-.....:’....:.....:...

: 10
C : 5

=LEX8
- LEX1

HEX8
- HEX1

FEPEPFIN EFSTETEE ATRTETETIN SPURTTE APETETEE SPAFAArE SFATTE ETAEA TR A 0 P N | —

Channel

—l
0.84

rel. gain

: : : . . . . ®o| EX8
Y- : : : : : : : o LEX1 22

= [ HEXg 20
A Y 2

T 18

16

14

12

10

N [
PP IS SN IS I I AU PN I IR (| SN R R A

Ji

= EX8
- LEX1

HEXS
- HEX1

0 5 10 15 20 25 30 35 40 45 0.76 0.78 0.8

Channel

0.82

-
0.84

rel. gain




T01-FM109 GSI061117 HIGHEST Relative Gain [Gain index 5]

rel. gain

rel. gain

rel. gain

rel. gain

3.4
3.2
3

2.8

2.6
24

2.2
2

1.8
1.6

34

3.2
3

2.8

2.6
24

2.2
2

1.8
1.6

3.4
3.2

3
2.8

2.6
24

2.2

2
1.8
1.6

3.4
3.2

3
28

2.6
24

22

2
1.8
1.6

............. U E S S S S S Y W =

X+ : o LEX1
T TN NN S T SR R S HEX8
E ; : o HEX1

1

0.5

=LEX8
- LEX1

HEXS
- HEX1

0

5 10 15 20 25 30 35 40 45

1.

6 1.8 2 2.2 2.4 2.6 2.8 3 3.2 3.4
rel. gain

Channel

: : : : : : ; LEX8
Y+ : P e e LT

0

0

N T U S USRS S HEX8
= : o HEX1

0.5

- LEX8
- LEX1

HEXS
- HEX1

Channel

-

34
rel. gain

............... e iiiei.. |9 LEXB
X- : o LEX1
e R N S HEX8
= 5 o HEXA

0.5

=LEX8
- LEX1

HEX8
~HEX1

5 10 15 20 25 35 40 45

Channel

-l

1
.6

24 34
rel. gain

1.8

_________________________________________________________________ *LEX8

Y- : o LEXA
N N TN SRR USRS S HEX8
= : o HEXA

0.5

5 10 15 20 25 30 35 40 45
Channel

-

]
.6

1.8 2 22 24 2.6 2.8 3 3.2 34
rel. gain




